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1. What are the advantages of Choice Based

Credit System (CBCS) introduced by the

UGC for higher education institutions?

(i) Focuses on student-centric education

(ii) Allows students to choose inter-

disciplinary and intra-disciplinary

courses.

(iii) Makes education at par with global

standards

(iv) Makes it easy to estimate the

performance levels of students in

terms of marks.

The correct answer is:

(A) (i), (iii), (iv) only

(B) (ii), (iii), (iv),) only

(C) (i), (ii), (iii), only

(D) All of the above

2. The National Skills Qualifications

Framework (NSQF) organizes qualifications

according to a series of levels of:

(A) Knowledge and skills

(B) Knowledge and aptitude

(C) Skills and aptitude

(D) Knowledge, Skills and aptitude

3. “University” is defined in the UGC Act

under:

(A) clause (f) of section 2

(B) clause (b) of section 2

(C) Section 3

(D) clause (b) of section 12

PART–A

3  /  2

4. In the context of value education, which of

the following stages will be considered a

relatively advanced stage?

(A) Value collection through imitation

(B) Value assessment through inner

evaluation

(C) Value clarification through exposure

(D) Value consolidation through

integration

5. Which of the following statements best

describe value education?

(i) It is a course in moral science

(ii) It talks about reward and punishments

for one's own actions

(iii) Students observe and imitate adult

behaviours, particularly that of their

parents

(iv) It encourages students to fix their place

in their life Choose

The correct answer is:

(A) (i), (ii) and (iii) only

(B) (ii), (iii) and (iv) only

(C) (iii) and (iv)

(D) (i) and (iv) only

6. The Government established the University

Grants Commission by an act of Parliament

in the year________

(A) 1980

(B) 1950

(C) 1948

(D) 1956
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7. Which of the following agency put forward

the concept of proactive university?

(A) UNDP

(B) AICTE

(C) UNESCO

(D) UGC

8. Which of the following Entries of the India

Constitution deals with coordination and

determination of standards in institutions for

higher education or research or scientific and

technical institutions?

(A) Entry 63 (2)

(B) Entry 64 (3)

(C) Entry 65 (4)

(D) Entry 66

9. NEP 2020 envisages that the extant 10+2

structure in school education will be

modified with a new pedagogical and

curricular restructuring of:

(A) 5+3+3+4 covering ages 3-18

(B) 10+2 covering ages 6-18

(C) 5+3+2+2 covering ages 3-18

(D) 5+3+3+4 covering ages 5-18

10. As per NEP 2020, the four independent

verticals within one umbrella institution, the

Higher Education Commission of India

(HECI).

(A) NHERC, UGC, AICTE, NAC

(B) NHERC, NAC, HEGC, GEC

(C) UGC, NHERC, NAAC, HEGC

(D) UGC, NAAC, NBA, AICTE

11. The minimum period of probation of a

teacher as per UGC regulations on minimum

qualifications for appointment of teachers

and other academic staff in universities and

colleges and measures for the maintenance

of standards in higher education, 2018 dated

18th July, 2018 is:

(A) Two years

(B) One year, extendable by a maximum

period of one more year in case of

unsatisfactory performance.

(C) Two years, extendable by a maximum

period of one more year in case of

unsatisfactory performance.

(D) One year, extendable by a maximum

period of two more year in case of

unsatisfactory performance.

12. The course work shall be treated as

prerequisite for M.Phil./Ph.D. preparation.

The credit assigned to the M.Phil. or Ph.D.

course work shall be a minimum of ______

credits and a maximum of _______ credits.

[University Grants Commission (Minimum

Standards and Procedure for Award of

M.Phil./Ph.D. Degrees) Regulations, 2016]:

(A) 8 and 12

(B) 8 and 16

(C) 12 and 16

(D) 10 and 12
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13. The regulations called, “the University

Grants Commission (Open and Distance

Learning) Regulations” were published in

the Year:

(A) 2016

(B) 2017

(C) 2018

(D) 2019

14. Major policy initiatives in the pre-

independence period included the

appointment of the Indian Universities

Commission in the year

(A) 1902

(B) 1904

(C) 1905

(D) 1913

15. Audit will be conducted

(i) In the Audit Office

(ii) In the office of the Auditable entity

(iii) At the site where the relevant records

for audit are available

(iv) At such place as may be decided by

audit.

The correct answer is:

(A) (i) & (ii) above

(B) (i) (ii) & (iii) above

(C) (ii) (iii) & (iv) above

(D) (i) to (iv) above

16. The audit of bodies and authorities, other

than Government establishments and

companies, by C&AG is governed by the

provision contained in

(A) Section 14, 15 & 20 of the DPC Act

(B) Section 14,15,19(1),19(2) and 19(3)

of the DPC Act

(C) Section 14,15,19(2) and 19(3), 19 A

and 20 of the DPC Act

(D) Section 14,15,19(1),19(2) and 19(3),

20 of the DPC Act

17. Haryana Civil Services (Revised Pay) Rules,

2016 shall not apply to—

(i) Members of All India Services

working in connection with the affairs

of Government of Haryana;

(ii) Officers of judicial services working

in connection with the affairs of

Government of Haryana;

(iii) Persons not in whole time employment

and the Persons paid otherwise than

on monthly basis, including those paid

on a piece-rate basis or on daily wages

basis or on contract basis or appointed

under outsourcing policies;

(iv) Government employee who is drawing

his pay in a pay scale under Haryana

Civil Services (Assured Carrier

progression) rules with effect from the

date on which he started drawing his

pay in the pay scale under Haryana

Civil Services (Assured Carrier

progression) rules and till the time he

draws his pay in that pay scale;

3  /  3
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The correct answer is:

(A) (i), (ii) and (iv)

(B) (ii), (iii) and (iv)

(C) (i), (ii) and (iii)

(D) All of the above

18. In accordance to the the Punjab Financial

Rules Volume – I (As applicable to Haryana

State) ‘‘Appropriation” means

(A) the assignment to meet specified

expenditure of fund at the disposal of

the assigning authority.

(B) means the transfer of funds from one

unit of appropriation to another such

unit.

(C) is a statement setting forth the financial

effect of the proposal involving the

creation, alteration or abolition of posts

on an establishment?

(D) is a portion of the supply under each

minor head which is allotted to a

prescribed sub-division of the head as

representing one of the primary objects

of the supply.

19. The AICTE Act was constituted to provide

for the establishment of an All-India Council

for Technical Education with a view to:

(i) proper planning and coordinated

development of a technical education

system throughout the country,

(ii) the promotion of qualitative

improvements of such education in

relation to planned quantitative growth,

(iii) regulation & proper maintenance of

norms and standards in the technical

education system and for the matters

connected therewith.

(iv) To govern and control the technical

universities and institutions of India.

The correct answer is:

(A) (i), (ii) and (iv)

(B) (ii), (iii) and (iv)

(C) (i), (ii) and (iii)

(D) All of the above

20. Which of the following statements are true

as per Haryana Civil Services (Leave)

Rules, 2016

(i) Leave can be claimed as a matter of

right.

(ii) Authority empowered to grant leave

has discretion to refuse, revoke or

recall from vacation when the

exigencies of the public services so

require

(iii) Government employee shall proceed

on leave with the prior permission of

the competent authority, except in

exceptional circumstances.

(iv) the sanctioning authority may alter the

nature of leave due and applied for by

a government employee.

The correct answer is:

(A) (i) and (ii)

(B) (ii) and (iii)

(C) (i), (iii) and (iv)

(D) All of the above
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21. “Pensionary benefits” admissible at the time

of retirement or termination from service due

to abolition of post means [Haryana Civil

Services (Pension) Rules, 2016]

(i) Pension and Commutation of pension

(ii) Death-cum-retirement gratuity

(iii) Service gratuity,

(iv) Family pension;

The correct answer is:

(A) (i) and (ii)

(B) (ii) and (iii)

(C) (i), (iii) and (iv)

(D) All of the above

22. In exercise of the powers conferred by the

proviso to article _____ of the Constitution

of India, the __________ of Haryana makes

the rules regulating the terms and conditions

of service of Government employees of the

State of Haryana.

(A) 309 and Legislative Assembly

(B) 14 and Legislative Assembly

(C) 309 and Governor

(D) 309 and Chief Minister

23. A permanent Government employee shall

retain a lien on a regular post while-

(i) on foreign service or deputation or

training;

(ii) working on a tenure post;

(iii) on leave; and

(iv) under suspension.

The correct answer is:

(A) (i), (ii) and (iv)

(B) (ii), (iii) and (iv)

(C) (i), (ii) and (iii)

(D) All of the above

24. The qualifying service required for full

pension as per Haryana Civil Services

(Pension) Rules, 2016  is:

(A) 20 Years

(B) 33 Years

(C) 28 Years

(D) 10 Years

25. Period of limitation of appeal from the date

on which a copy of the order appealed

against is delivered to the appellant in terms

of Haryana Civil Services (Punishment and

Appeal) Rules, 2016 is

(A) 15 days

(B) 30 days

(C) 45 days

(D) 60 days

26. The Minor Penalties may be imposed on a

Government employee, namely—

(i) warning with a copy in the personal

file;

(ii) censure;

(iii) withholding of promotion for a

specified period upto one year;

(iv) withholding of increment(s) without

cumulative effect.

The correct answer is:

(A) (i), (ii) and (iv)

(B) (ii), (iii) and (iv)

(C) (i), (ii) and (iii)

(D) All of the above

3  /  4
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27. The full form of ATAL is:

(A) AICTE Training and Learning

(ATAL) Academy 

(B) AICTE Teaching and Learning

(ATAL) Academy 

(C) AICTE Technical and Learning

(ATAL) Academy 

(D) ATAL Academy

28. The students require vocational guidance

because

(A) it helps in their vocational selection

(B) it is futile for them

(C) it helps in joining interesting

vocations  

(D) it helps in getting the job according to

one’s capabilities

29. National Programme for Technology

Enhanced Learning (NPTEL) was initiated

by the MHRD in 2003 to enhance the

quality in:

(A) Medical education

(B) Agriculture education

(C) Engineering education

(D) Legal education

30. Which section of The Apprenticeship Act

1961 deals with the Practical and basic

training of apprentices?

(A) Section 12 of The Apprenticeship

Act 1961

(B) Section 9 of The Apprenticeship

Act 1961

(C) Section 14 of The Apprenticeship

Act 1961

(D) Section 20 of The Apprenticeship

Act 1961
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PART–B

31. The another name for percussion

manipulation is

(A) Petrissage

(B) Kneading

(C) Pressure

(D) Tapotement

32. Protein digestion occurs in ?

(A) Rectum

(B) Small intestine

(C) Ileum

(D) Stomach

33. In a cardiac cycle what is the ratio of

ventricle systole and Atrial diastole?

(A) 0.1 sec/0.7 sec

(B) 0.3 sec/0.7 sec

(C) 0.3 sec/0.5 sec

(D) 0.4 sec/0.4 sec

34. Which of the following is another term for

reinforcement ?

(A) Reward

(B) Condition

(C) Response

(D) Motive

35. Which organ receives less blood flow during

exercise ?

(A) Liver.

(B) Pancreas

(C) Kidney.

(D) Lungs

36. For 100% Accuracy, Which test can be

selected for measuring Body Fat Percentage.

(A) Body Mass Index.

(B) Skin fold Measurements

(C) Bioelectrical Impedance Analysis

(D) Hydrostatic Weight Test

37. Back spin causes-

(A) Higher rebound

(B) Lower rebound.

(C) Rebound to the left.

(D) Rebound to the right

38. What is a scold ?

(A) A burn by fire

(B) A break in your leg

(C) Being beaten with a stick

(D) A burn by liquid or gas

3  /  5
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39. FINA is associated with…………..

(A) Water Sports

(B) Drugs and Doping

(C) Combat Sport

(D) Gridiron

40. What is the ratio of WBC to RBC in the

body ?

(A) 1:500

(B) 1:600

(C) 1:300

(D) 1:400

41. Glucose is a type of:

(A) Simple carbohydrates

(B) Complex carbohydrates

(C) Proteins

(D) Actomyosin

42. Which year the AIU included American

Football (Gridiron) as a regular event in its

National University Games schedule.

(A) 2014-15

(B) 2015-16

(C) 2016-17

(D) 2013-14

43. How many miles and yards long is a

Marathon ?

(A) 42 miles, 195 yards

(B) 21 miles, 98 yards

(C) 26 miles, 385 yards.

(D) 24 miles, 125 yards

44. Which of the endocrine gland disappears

or is reduced to a very small size after

maturity ?

(A) Gonads.

(B) Pituitary

(C) Thyroid

(D) Thymus

45. Who considered Psychology as the "Science

of activities for an individual in relation to

his environment" ?

(A) Wood worth.

(B) William James.

(C) Watson.

(D) Robert Singer

46. What is another name for patellar

tendinitis ?

(A) Joint contusion

(B) Runner's knee

(C) Chondromalacia

(D) Jumper's Knee
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47. How many Medals have won by Indian

athletes till now all at the summer Olympics?

(A) 45

(B) 35

(C) 40

(D) 38

48. Which of the following part of the brain

sends signals 'alert' to the higher centers in

response to incoming messages ?

(A) Reticular formation

(B) Hippocampus

(C) Limbic system

(D) Amygdala

49. Which of the following conditions is not a

cause for the occurrence of plateau in

learning?

(A) Fatigue

(B) Monotony

(C) Distraction

(D) Physiological limit.

50. What are the conditions in which Type-I

error occurs ?

(A) The null Hypotheses get accepted

even if it is false

(B) The null hypothesis get rejected

even if it is true

(C) Both the null hypotheses as well as

alternative hypotheses are rejected

(D) None of the above

51. Which Sports league first used big Data and

Analytics.

(A) Basketball

(B) Cricket

(C) Baseball

(D) Football

52. Sigmund Freud is known to be the Father

of the-

(A) Theory of Motivation

(B) Theory of Psychoanalysis

(C) Theory of connectionism

(D) Theory of parallelism

53. The Chi-square test is:

(A) A null hypothesis test

(B) A multi-question test.

(C) A statistical diagnostic test

(D) A statistical hypothesis test

54. Degree of difficulty and Variations in

exercises are methods to improve, Which

Physical Fitness Component.

(A) Speed

(B) Strength

(C) Flexibility

(D) Coordinative Ability
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55. Human have _____________ joint between

Sternum and ribs

(A) Gliding

(B) Angular

(C) Cartilaginous

(D) Fibrous

56. The process in which an individual

organism adjusts to a gradual change in

its environment allowing it to maintain

performance across a range of environment

conditions called.

(A) Second Wind

(B) Acclimation

(C) Adaptation

(D) Acclimatization

57. Who is appointed as the Director General

of "National Anti-Doping Agency" ?

(A) Siddharth Singh Longjam

(B) S Ramann

(C) Rajyavardhan Sinsh Rathor

(D) Dr Nagesh Janu

58. Which of the following are considered as

the Social Inheritance of Man ?

(A) Traditions

(B) Habits

(C) Conditional reflexes

(D) Religious practices

59. In Which year were the formal Drug tests

introduced in the Olympic Games ?

(A) 1968

(B) 1964

(C) 1970

(D) 1960

60. Circuit training was developed by R.E.

Morgan and G.T. Anderson in the year :

(A) 1963

(B) 1953

(C) 1973

(D) 1968
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PART–C

61. Synonym of CORPULENT is ……….

(A) Obese

(B) Emaciated

(C) Gaunt

(D) Lean

62. Which is the adjective of Parliament?

(A) Parley

(B) Parliamentarian

(C) Parleyed

(D) Parliamentary

63. Find out the correct sentence which is

punctuated correctly-

(A) He gathered the leaves and got ready

to jump in.

(B) He gathered the leaves, and got ready

to jump in.

(C) He gathered the leaves, got ready to

jump in.

(D) All are correct

64. The country cleared this path and paved it

with packed gravel, so they would have a

peaceful place to hike and bike.

Which of the following alternatives to the

underlined portion would NOT be

acceptable?

(A) path, paving

(B) path and then paved

(C) path before paving

(D) path paved

65. Unbricking a kiln after a firing is like

a person uncovering buried treasure. (Identify

the best replacement for underlined part)

(A) NO CHANGE

(B) someone

(C) a potter

(D) OMIT the underlined portion.

66. Bhanu lived and worked on the family farm.

After his father died in 1869, Bhanu took

over the responsibility of the farm and the

care of his mother and younger sisters. In

addition, he pursued scientific studies and

taught himself to play the piano and violin.

If the writer were to delete the last part of

the preceding sentence (ending the sentence

with a period after the word studies), the

paragraph would primarily lose:

(A) support for the essay's point about

Bhanu's love of learning.

(B) a direct link to the previous paragraph.

(C) a humorous description of Bhanu's

other interests.

(D) an extensive digression about music

67. Radioactive pools of toxic waste are okay

for others to live in; even acid cannot kill

them. (Identify the best replacement for

underlined part)

(A) NO CHANGE

(B) are all right for others to live in;

(C) are home to still others;

(D) suit others to a tee;
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68. One significant aspect of this relationship

was: that Sushma was perhaps the only

reader of Suman's poems-in-progress.

(Identify the best replacement for underlined

part)

(A) NO CHANGE

(B) was that Sushma

(C) was, that Sushma

(D) was that Sushma,

69. The fresco is a dynamic work because, by

capturing the energy, humanity, and

collective achievement of the Detroit

workers, celebrates all working men and

women. (Identify the best replacement for

underlined part)

(A) NO CHANGE

(B) that,

(C) while,

(D) that was,

70. Statement:

In order to enforce discipline on transport

operators, the state government has decided

to impose a fine of Rs. 5,000 for the first

excess tonne loaded in transport vehicle and

Rs. 1,000 for each subsequent tonne.

Conclusions:

I. People will follow some discipline

when severe fine is imposed.

II. The state government has failed to

understand the problem of transport

operators.

(A) If either I or II follows

(B) If neither I nor II follows

(C) If only conclusion II follows

(D) If only conclusion I follows

71. If South-East becomes North, North-East

becomes West and so on. What will West

become?

(A) North-East

(B) South-East

(C) North-West

(D) South-West

72. A child is looking for his father. He went

90 metres in the east before turning to his

right. He went 20 metres before turning to

his right again to look for his father at his

uncle's place 30 metres from this point. His

father was not there. From there, he went

100 metres to his north before meeting his

father in a street. How far did the son meet

his father from the starting point?

(A) 100 m

(B) 140 m

(C) 180 m

(D) 80 m

73. In certain code 'FROZEN' is written as

'OFAPSG'. Then how would 'MOLTEN'

be written in that code?

(A) OFUNPM

(B) OFUMPN

(C) OFUNPM

(D) OFPOMN
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74. Read the following information carefully and

answer the questions below.

1. J + K means J is the son of K

2. J – K means J is the wife of K

3. J × K means J is the brother of K

4. J ÷ K means J is the mother of K

5. J = K means J is the sister of K

What does A + B - C mean?

(A) C is the father of A

(B) C is the son of A

(C) C is the uncle of A

(D) C is the brother of A

75. If SNOW is coded as 7100, then WALL

will be coded as

(A) 5000

(B) 4700

(C) 4800

(D) 4000

76. Rain Gauge : Rain : : ? : Humidity

(A) Odometer

(B) Seismograph

(C) Hygrometer

(D) None of the above

77. Choose the word or group of words which

is most similar in meaning to the given word.

Magniloquent

(A) Amusing

(B) Humorous

(C) Intelligent

(D) Boastful

78. Complete the following series:

6, 12, 20, 30, 42, ?, 72, 90, 110

(A) 20

(B) 42

(C) 56

(D) 90

79. Hari, Jony and Shyam start a shop by

investing Rs. 27,000. Rs. 72,000 and

Rs. 81,000 respectively. At the end of the

year, the profit was distributed among them

and Shyam earns the share of Rs. 36,000.

Find the total profit.

(A) Rs. 1,10,000

(B) Rs. 1,2,5000

(C) Rs. 98,000

(D) Rs. 80,000

80. A man owes a lender Rs. 20502 due 1 year

hence. If the man wants to settle the account

after 8 months and the rate of interest being

6% per annum, find the amount the man

should pay to the lender.

(A) 20000

(B) 20100

(C) 20200

(D) None of these
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81. How many words can be formed by using

letters of the word 'DELHI'?

(A) 50

(B) 72

(C) 85

(D) 120

82. If 6 + 12 + 18 + 24 + ----- = 1800, then find

the number of terms in the series.

(A) 21

(B) 22

(C) 23

(D) 24

83. When 35 is subtracted from a number; it

reduces to its 80 %. Find the four-fifth of

that number.

(A) 140

(B) 125

(C) 137

(D) 129

84. Find the smallest number by which 1780

must be added to make the sum a perfect

square.

(A) 46

(B) 49

(C) 69

(D) 72

85. The population of a city A which is 68000

decreases at the rate of 1200/year. Population

of city B which is 42000, increases at the

rate of 800 per year. Find in how many

years, the population of cities A and B are

equal?

(A) 9 years

(B) 10 years

(C) 13 years

(D) 15 years

86. The sum of numerator and denominator

of a fraction is 30. If 2 is added to numerator

and 2 is subtracted from denominator, then

it becomes 2/3. Find the fraction.

(A) 1/2

(B) 1/3

(C) 2/3

(D) 1/4

87. Virus is a ___________

(A) Software

(B) Hardware

(C) Chip

(D) Device driver

88. A byte consists of

(A) 2 bits

(B) 4 bits

(C) 8 bits

(D) 10 bits
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89. The central banking functions in India are

performed by the

(A) Central Bank of India

(B) Reserve Bank of India

(C) State Bank of India

(D) Punjab National Bank

90. At what time does the Earth make a rotation

on its axis?

(A) 23 hours, 59 minutes and few seconds

(B) 22 hours, 16 minutes and few seconds

(C) 24 hours, 36 minutes and few seconds

(D) 23 hours, 56 minutes and few seconds

91. Who among the following have never been

Chief Minister of Haryana?

(A) Bhagwat Dayal Sharma

(B) Kaptan Singh Solanki

(C) Banarsi Das Gupta

(D) Bansi Lal

92. Which of the following is a war dance?

(A) Bhangra

(B) Bamboo dance of Meghalaya

(C) Kathakali

(D) None of these

93. The value of which of the following foreign

currencies is maximum in terms of rupees?

(A) Dinar

(B) Riyal

(C) British Pound

(D) US Dollar

94. Champion Trophy is associated with

(A) Athletics

(B) Cricket

(C) Hockey

(D) Football

95. Which of the following organizations

has released the report titled 'Global Wind

Report 2021'?

(A) World Wind Energy Association

(B) Global Wind Energy Council

(C) International Renewable Energy

Agency

(D) United Nations

96. Indian Railways is constructing the tallest

pier railway bridge in the world in Manipur.

What is the height of the bridge?

(A) 111 metres

(B) 151 meters

(C) 121 meters

(D) 141 meters
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97. Who has been appointed as the 48th Chief

Justice of India?

(A) Justice NV Ramana

(B) Justice Uday Lalit

(C) Justice Arvind Bobde

(D) Justice Nariman

98. Who appoints the members of the State

Public Service Commission?

(A) Chief Minister of the State

(B) Governor

(C) President on the recommendation of

the Governor

(D) Prime Minister on the recommendation

of the Governor

99. Being famous in the production of Basmati

rice, which district of Haryana is known as

"Dhan-ka-katora".

(A) Sirsa

(B) Karnal

(C) Panchkula

(D) Jind

100. Cegat stands for

(A) Customs, Excise and Gold (Control)

Appellate Tribunal

(B) Customs, Economy and Governance

Appellate Tribunal

(C) Central Excise Governance Appellate

Tribunal

(D) Central Economy and Gold Appellate

Tribunal
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Sr. 
No. 

Answer Sr. 
No. 

Answer Sr. 
no. 

Answer Sr. 
No. 

Answer Sr. 
No. 

Answer 

1 C 21 D 41 A 61 A 81 D 
2 D 22 C 42 B 62 D 82 D 
3 A 23 D 43 C 63 A 83 A 
4 D 24 A 44 D 64 D 84 C 
5 B 25 C 45 A 65 D 85 C 
6 D 26 D 46 D 66 A 86 A 
7 C 27 A 47 B 67 C 87 A 
8 D 28 C 48 A 68 B 88 C 
9 A 29 C 49 D 69 B 89 B 
10 B 30 B 50 B 70 D 90 D 
11 B 31 D 51 C 71 B 91 B 
12 B 32 C 52 B 72 A 92 B 
13 B 33 B 53 D 73 B 93 A 
14 A 34 A 54 D 74 A 94 C 
15 D 35 C 55 C 75 C 95 B 
16 C 36 D 56 D 76 C 96 D 
17 D 37 A 57 A 77 D 97 A 
18 A 39 D 58 C 78 C 98 B 
19 C 39 A 59 A 79 D 99 B 
20 B 40 B 60 B 80 B 100 A 


